
!"# $%&'( )$*+, -$.'/ $$0'/ )$1', )$$
2+'# 3%$3'4$5$0'/ $367 3%$

!" #$%&#%'( )#*&+%#,&'- &#$'./ +#$0+%#+12#%'( )#34#5367#
28+#%'9 .#%'( )#:;9 <#=>#?$@AB C#DCEF#G#=H>#I@JK LM$$

$
=7 89$$$:;<=$>?@A B$C8D E$E<F$GHGIBJK=$L8M $K>?B8H$=NOF@=$BPQ 9$

>9 .?@R B$I<R O$;S =;$GHGIBJK=$L8M $I;K$>?@R B$TPA $U;<=$>VR $GHGIBJK=$IOQ 8$=NOF@=$BPQ $)WXYZ[$L8M $!$WX$Y$\][$BJ@=$I8D I$K>?B8H9$1PM $
CKD $N?8Q ?$B;̂ I;$B8A ?$T8K$BJK=N$I8D I$;_̀ U$I;<R B$)$I;a $IKD $EPD I$KbF;KD 8$5cd$IKM =$!$IKD $I8D I$EPD I$Kb?$;KD 8$$5cd$ecd$efd$e]9$

I9$$$$.Gg $I8D I$)J>?B8H$H_D U$=NK8M ?$IOM =N$IOQ 8$=NOF@=$BPQ $$)9$
N7 4V̀ B$>S =;$ĥ =$I;PD 8$;Vi =$;_̀ U$h;̂ $-HK$L8M $)bF$IKD $B;@j $B̂ I;$kd]$Ĥ B$_Q $\l]dkm-$8D U$TO<R B$\kc$IE$nN9$
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